U 1:  olRbaldi A183udidl] s¢ Ad il GURI2] SRA1 2
(a) u2 :AC = DF, AB = DE, BC = EF. 211¥] AABC = A DEF.

A D

B C E

B3 : el AAsieldl] A1 ol1ygloll HIU AdHIol B dH NG B.
dell, aiiolioll RA H¥a,

AABC = A DEF



(b) ugi:ZX =RP,RQ =Z2Y, LPRQ = £XZY. 218l APQR = AXYZ.

R V4

P Q x X

B5a : 28l Msleloll A ol1Yiloll HIU ZX = RP iol RQ = ZY Adlol & dHY il 6IA Gl
d3 Gloidl YRIN ZPRQ = £XZY AN 8.

dell, olivoll Rd H¥ol,

APQR = AXYZ



(¢c) u2l:2MLN = £FGH, .NML = £GFH, ML = FG . 2118l ALMN = AGFH.

L H

M G

B5d : el [Asielell A yeIRilell I ZMLN = £FGH ¥ial ZNML = £HFG y¥lol & dHY il
A1 vjRIRAofl 2iddd 61y ML = FG 21N 8.

dell, vioiiv *RA o,
ALMN = AGFH



(d) ua : EB=DB, AE = BC, A = +£C = 90°. 218]| AABE = ACDB.

D

B5d : el Asleldl sef of #IU EB = DB idl 1S 6lIY AE = BC Adlol & dHY 21 SI2uRl
LA = £C =90°3Ng B.
dell, sisoll *Rd Yo,

AABE = ACDB



U 2: ddRAlNd 4 & 5 AART = APEN,

(a) < dHR GllGlI6ll ARcoll GUIIA $AT &1, dl AHIR
(i) AR =?, (ii) RT =7, (iii) AT =? old1d4q uS ?

A

R 1T E

B3d :  clivlioll Rd HYG oflA Yol cidiag US.

(i) AR = PE, (ii) RT = EN, (iii) AT = PN



(b) % 2T = 2N A10d &1, ial GiIYGi1 ARdall BUA| 5] &1, A
(i) RT =?, didl (ii) PN =? &l .

A P

R 1T E

B3d :  olIvioll RA #Y¥G of IR Yol cidiag us.

(i) RT = EN, (ii) PN = AT



(c) %1 AT = PN 11Ud &I, dHal dHIR VGl Ivf Rdell GUAIdI 54 &1, dl SA1 & uRelH
gldi g ?
(i) ? dal (ii) ?

A F

R 1 E N

B3d :  Yollu Rd H¥Gl of )~ Y6l Gididg US.

(i) 2RAT = 2EPN, (ii).RTA = LENP



Y% 3: ddR AAMP = AAMQ, difcld sdl10] & ool 21[AAdlHi vigai sREN 41l :

A
P M Q
-
(1) PM=QM (i) AN 8.
(i) ZPMA=ZQMA (ii) AN 8.
(111) AM =AM (i)  A1H1I0A GlI%Y
(1v) AAMP = AAMQ (V)  olvoll 'Rd




YA 4.

B5d :

YA DS

Gsd :

AABC ¥l £A = 30°, 2B = 40° {dl 2C = 110° d{% APQR ¥ 2P = 30°, 2Q = 40°
ol LR = 110° B. AIs A1l s8 B 5 vjujyl RA MHILIAABC = APQR 8. | A AR
& 2 A1 HIZ ? Al HI2 ollb ?

ol d [Qnell A1A1 o12l.

SRRI 5 A1dl UsRdl [Asiel HI2 AAs [Aslel ofla [Asieldd] H1Z] s2d] (Enlarged) oisd
elgf U5 B.

AN] 215(dH1 A [siel 153U B. Hgi3u 2490 (aiileflef] €11dc &. ARAT = ___ @l

ASIY ?
R NVO
AAT W

A1s(d ue] 21dl Rsiel HI2 2A2AddI R & W, A & 0 dHY T & N HOl.

d?ll, uel olivyoll A J%6i RA = WO A AT = ON, id d¥dll 2iddd yel 24 =
£0, 84\ A1, ARAT = AWON A1S3UdI HA\.



